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1RBRE 4
3DIZ2RERERDEDICEET B.
FI(X.Y,Z,W)=XZ-Y?,

(XY, ZW)=XW -YZ,
F3(X.Y,Z,W)=YW — Z2,

S =k[U V] & B =k[X,Y,Z W]/(F\, F2, F3) ZREMNREL, L, C ZXN¥EN, S, B CEESNDH
THRETD. Tl ¢ B> A%

p(X)=U? o¥)=U?V, @Z)=UV? oW)=V>

TEESNZRERREET 3.

a) L=D,(U)UD.(V), C=D(X)UD (W) ThHdDE%ERT.

b) ¢ ICKYFESNBETROL(DL(U)NDL(V)) = Oc(D(X)NDL(W)) BBERTHSDZ E%RE.

) F; =0 TEESND FFTB P> ADEE 0, #FAS. 1 <i<j <3B3FEBDi,jlCDOVT, Q;
EQ; DEDYIREIR C £E£5 1 DDERAHDOEICEDTH D EARE.

d) SHICMIC, FBDA=(A1:42:43) IZDVT, FR =AM F1+AF+A3F; =0 THE Q) #E&
I3 CDEE, FED A #plZDWT 0, & 0, DXDOYU(FER C EBIROEH THD AR,

A=k[x,y.z1EL, ADATPIVI %1 =(x2—y3y2—23) EEETD. &fc, B=k[t] T3, &
52, BERR o k[x,y,z] — k[t] & F(x,y.2) — F(°,t%,t*) TEETS.
a) EROBELR F(x,y,z2) lICHL,

F(x,y,z)=a(z) + b(z2)x +c(z)y +d(z)xy mod I

HEHICT a(z),b(2),c(2),d(z) e k[z) PBEETBZEAETRE. IN&Y, Kera =1 ThdIE%ERE.
b) I ldADRATPINTHEEARY.

E %
X2-XZ-YW =0, YZ—-XW—ZW =0.

TEESND GIETE PP ADEHIRETS. o, VEW =0 TEESNBDEBDETD. CDEE, BfRo
%
¢: EN{(0:0:0:1)} — 14
(X:Y:Z:W) » (X:Y:Z:0)
TEEI .
) o0 =0:0:0:1)ICETHRL, MBESNIZER D E BBV ADOLERRBEERDLDICTE
3h\.
b) ¢ & E DSHEEE P2 AT
Y2z =Xx3-x27?

ICKUERSNBEIE C \ORETREBDEZRE.
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